J4 BODY

WHEELBASE : 24942MM
FOR CMX  CFX SERIES

ia X4 PEEORTEC HaIEEY,

l< TRIMMING

Make 5.5mm holes g :‘-‘" /

V /

Make 2.5mm holes

Make 2mm holes

Make 5.5mm holes

Make 5.5mm holes

place to air dry.

g* WASH THE BODY
3% Wash the body thoroughly with detergent n

in order to remove oil completely rinse and

WAS




ﬂ-ﬂ MASKING AND PAINTING

Masking =
sticker ———~=
(

# Please apply the masking
stickers to the car inside
exactly before painting.

# Remove the masking stickers after the finish
of painting. Then remove the car outside
protecting film before acting the next step.







2.6 X5.8X0.6 Spacer

M2.5X5 Screw




5‘ MOUNTING ACCESSORIES
Mirror sticker




54 MOUNTING ACCESSORIES

-

-
7
P /

Hinge cover

¥ Arrow up.
FrEeAL -




==y Y / a
2LX
~ I-’/

IM‘ |

[0
e
[T]

=2

»
]

=

0

L &R

M3 X 20 Screw

M2 X 10 Screw

0 I AN
.@/ﬂ \ ¢ \ 0 =
% N\ @@ \ |@_|S 3 m
< @ 8 @p V.- < @
I s Ap—b)=¢ 9
< E o .
T B 2 5 \) : .
c ] 2 a " ¢ ® ..m.
T g 2 Vo, 8 £
Y a S o & X @
X N = 5
M X @
(3] 1]
g &
6
L




E‘d CHASSIS ASSEMBLY

M3 X 25 Screw

3XB6X3.5
Spacer

For CFX 242 wheelbase

# Arrow inward.

3XB6X3.5
Spacer

ﬂ-l ATTACHING BODY

© 0000000000

in il
=
®

-----

% Body post height.

W= © @

102 mm

026216



	026216 J4車殼說明書-03
	026216 J4車殼說明書-04
	026216 J4車殼說明書-05
	026216 J4車殼說明書-06
	026216 J4車殼說明書-07
	026216 J4車殼說明書-08
	026216 J4車殼說明書-09
	026216 J4車殼說明書-10

